IDE 110 — Summer 2006 Quiz 3 Name:

Rigid bar ABCD is supported by bars (1) and (2). There is no strain in the bars before load P is applied.
If the axial strain in rod (1) is —1,000 um/m after load P is applied, determine:

a. the change in length of bar (1)
b. the change in length of bar (2) units = mm
c. the normal strain in bar (2)
d. the distance point D moves
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(be sure to include units and box answers)

14 TR NT|

~U g .

j'.'_ - S‘I- ___Cé-i-*"
24 Jqa3L 29436 1

e

‘Lj Sz 2,L, " ;nuo[lc"'}(.ﬂ)—-lu.‘? mm =G0 pm

b) g'l: Ii"*"‘lsta{.g'):lﬁﬂmr 2.15”"1"” A-l
24 -

L3

e) _ —
Zer %= 1500 JA ]

d) Sp = 12494.30f .14 -—
- >y (SO =1?i?5pm12.7'75mm E




